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CAASY 8,164,980 6,401,070 1,763,910
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= 270,798 221,309 49,489
2 6,311,242 4,592,730 1,718,512
CAIHY 3,770,380 2,420,380 1,350,000
MEITA =4 517,380 117,380 400,000
SMQE 22U =4 50,000 0 50,000
401 AlEHIZ 20 50,000 0 50,000
01 Al&HI 50,000 0 50,000
OEME= 2T =4 JI=2HE 89 50,000 0 50,000
EXEASEI} 350,000 0 350,000
401 AlEHIZ =20 350,000 0 350,000
01 Al&HI 350,000 0 350,000
OzelHE EXNHASEI} 350,000 0 350,000
SAHEEZZ FHy 3,253,000 2,303,000 950,000
XNREe HeEc2 e 900,000 0 900,000
401 AlEHI L =Y 900,000 0 900,000
01 Al&HI 900,000 0 900,000
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=8m) 900,000 0 900,000
CAHEEAE SX 22 150,000 100,000 50,000
401 AlEHIZ 2| 150,000 100,000 50,000
01 Al&HI 150,000 100,000 50,000
OSAHEAE RXES 150,000 100,000 50,000
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2 192,520 187,520 5,000
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402 QIZIXH=0| & 8,000 3,000 5,000
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CAZ2 =4 1,956,677 1,542,677 414,000
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[ 50,000 0 50,000
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D22 28 X (RHH) 1,055,000 935,000 120,000
402 BI2EXHE 0| & 1,085,000 935,000 120,000
01 QIR ALY B 1,085,000 935,000 120,000
OMS NSOtSSl2 Otg S HE4 40,000 0 40,000
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z 499,677 405,677 94,000
TAl TRt x4 92,904 12,904 80,000
401 AlEHI 22 ThYI 80,000 0 80,000
01 A&l 80,000 0 80,000
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224 B AIZE X4 14,000 0 14,000
401 AlEHI L 20 14,000 0 14,000
01 A&l 14,000 0 14,000
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WEEE(SAASD) 411,117 411,004 23
SIS 11,117 11,094 23
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= 450,162 1,110,631 A 660,469
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s 57,248 138,829 A 81,581
01 AR 2& A =63 564,658 1,388,289 A 823,631
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FHESSH =2 154,000 154,000 0
= 123,200 123,200 0
< 15,400 15,400 0
[ia 15,400 15,400 0
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= 110,358 123,200 N 12,842
< 13,794 15,400 A 1,606
[ia 13,794 15,400 A 1,606
02 2I2HCH & AFH HI 137,946 154,000 A 16,054
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= 656,378 0 656,378
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